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Main ldeas/Questions

Notes

Sum and
Difference
of Angles
[dentities

Sum of Angles

Difference of Angles

sin(4+ B)=sin4-cosB+cosA4-sinB

cos(4+B)=cosA4-cosB—sinAd-sinB

tan4+tanB

tan(4+B)=—""——
(4+5B) l1-tand4-tanB

sin(4—B)=sin4d-cosB—cos4-sinB

cos(4—B)=cos.A4-cosB +sin4d-sinB

tan4—-tanB

tan(4-B)=———
( ) l+tan4-tanB

Examples:

Given sin 4 =15—3;0 <A< g,andcosB =§;0 <B< g,find

a) sin

(A+B)=

b) cos(A+B)=

. . 12 . 4 .
Given sin 4 =E;O <A< %,andsmB =§;§< B < m, find

a) sin

(A-B) =

b) cos(A-B)=

Given tan 4 =%;7‘[<A < S’Z—H,andcosB =%;37E<B < 2w, find

a) sin

b) cos

(A+B)=

(A-B) =




